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QUESTION 1

Which of these statements is true for boiling, but not true for evaporation?
A. Gas forms at the surface of the liquid.

B. The warmer the liquid is, the faster the process.

C. It takes place at a specific temperature.

D. The larger the surface area of liquid, the faster the process.

Correct Answer: C

QUESTION 2

Which of the following is an example of a tissue?
A. xylem

B. liver

C. mammal

D. hamstring

Correct Answer: A

A xylem is an example of a tissue. A liver is an organ, a mammal is a type of organism, and a hamstring is a muscle.

QUESTION 3

If a cell is placed in a hypertonic solution, what will happen to the cell?
A. It will swell.

B. It will shrink.

C. It does not affect the cell.

D. It will stay the same.

Correct Answer: B

A hypertonic solution is a solution with a higher particle concentration than in the cell, and consequently lower water
content than in the cell. Water moves from the cell to the solution, causing the cell to experience water loss and shrink.

QUESTION 4
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What happens when a piece of zinc is placed in a copper(ll) sulphate solution?

A. Zinc displaces copper from copper(ll) sulphate solution. The original blue color of the solution persists.
B. Sulphur dioxide is liberated.

C. Zinc displaces copper from copper(ll) sulphate solution.

D. No reaction occurs because zinc is less reactive metal than copper.

Correct Answer: C

QUESTION 5

In a chemical reaction: sulfuric acid + substance x = salt + water + carbon dioxide
What could substance x be?

A. copper(ll) oxide

B. potassium

C. sodium carbonate

D. magnesium hydroxide

Correct Answer: C
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